
1. (d) The young man was well-dressed because he wanted
to impress the salesman. Refer to the lines, "A well-dressed
young man entered a big textile shop one evening. He
was able to draw the attention of the salesmen who
thought him rich and likely to make heavy purchases."
Hence, option (d) is the right answer choice.

2. (c) The salesmen in the shop are described as people
who pay attention to only rich customers. Read the
sentence, "He explained that he had come to the same
shop in casual dress that morning and drawn little
attention." After that, when the man came in well-dressed
the salesmen thought him rich and thus paid attention to
him. Hence, option (c) is the right answer choice.

3. (a) The young man moved away to the hosiery section
because he was not interested in purchasing anything
right now. Read the sentence, "He had come in good
dress only to get decent treatment, not for getting any
textiles." Hence, option (a) is the right answer choice.

4. (b) The manager asked the young man what he wanted
because the salesman had drawn his attention to the
indifferent attitude of the young man. Read the sentence,
"By then, the salesmen had begun to doubt his intentions
and drew the attention of the manager." Hence, option
(b) is the right answer  choice.

5. (c) The young man left without making purchases
because he Had come only to make a point about the
indifferent attitude of the salesman towards casually
dressed customers. Read the last two sentences, "He had
come in good dress only to get decent treatment, not for
getting any textiles. He left without making any
purchase." Hence, option (c) is the right answer choice.

6. (b) The antonym of 'superior' is 'Inferior'. Hence, option
(b) is the right answer choice.

7. (c) The another word for "stockings" is "Hosiery".
Hence, option (c) is the right answer choice.

8. (d) The meaning of 'pride' is 'Dignity'. Hence, option (d)
is the right answer choice.

9. (d) The opposite of 'casual' is 'Formal'. Hence, option (d)
is the right answer choice.

10. (a) "Purchase" from the passage means "to buy". Hence,
option (a) is the right answer choice.

1 (d) 7 (c) 13 (a) 19 (b) 25 (c) 31 (d) 37 (a) 43 (a) 49 (b) 55 (a)
2 (c) 8 (d) 14 (e) 20 (a) 26 (c) 32 (a) 38 (c) 44 (b) 50 (a) 56 (b)
3 (a) 9 (d) 15 (a) 21 (d) 27 (c) 33 (b) 39 (c) 45 (c) 51 (d) 57 (a)
4 (b) 10 (a) 16 (a) 22 (a) 28 (b) 34 (a) 40 (a) 46 (a) 52 (b) 58 (a)
5 (c) 11 (b) 17 (d) 23 (d) 29 (a) 35 (b) 41 (b) 47 (b) 53 (a) 59 (b)
6 (b) 12 (c) 18 (d) 24 (b) 30 (d) 36 (b) 42 (a) 48 (a) 54 (a) 60 (b)
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11. (b) It has been described in the passage that FATF has
already put Pakistan in the grey list and asked it to
implement a number of measure so that the terrorism in
the country can be restricted but Pakistan chose not to
pay heed to such things and tried to influence the other
countries for support. Among the given options, we can
easily pick out Option B as the correct answer for the fact
that it perfectly puts across the objective of the FATF
with regard to Pakistan and terrorism. Other options can
be eliminated since they do not follow from the given
passage.

12. (c) From the given passage it can be understood that
FATF was formed with the objective to combat money
laundering and also financing of terror activities
throughout the world. Though the passage is regarding
Pakistan only, we can see that the frameworks developed
by the organization are mainly for terrorism activities meant
for trans-national risks. So, it cannot be for Asian
countries only as any terror plot hatched in any Asian
country can be implemented in any other country also.
So, it should be a global terror body. Among the given
options, we have Option C that explains the objective of
FATF whereas others fail to do so. So, except C, all the
other options can be eliminated.

13. (a) Refer to, "At the most recent FATF plenary, where
proceedings are meant to be secret and taken by
consensus, Pakistan is believed to have received the
backing of China, Turkey and Malaysia to avert being
put on the blacklist immediately."
FATF has already put Pakistan in the Grey List and now it
was ready to impose more strictures against the country
and put it in the Black List of countries. However certain
countries objected to this and that is why it has not been
put into the Black List yet. China, Turkey and Malaysia
are the countries that supported Pakistan.

14. (e) Statement I is not correct since it is observed that
FATF wanted to put Pakistan in the blacklist since it had
not complied with the conditions put on it while placing it
in the grey list of nations. That means it may not be a
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couple of warnings before blacklisting a country. Even
with one warning the country can be placed in the blacklist.
Statement II is correct since FATF gave a timeline of 27
months to Pakistan to implement all the measures advised
to them in order to combat terror financing. So it can be
said that the organization can give a particular timeline for
any country that has been put under scanner.
Statement III can also be considered as correct for the
fact that certain countries have objected to the decision
of putting Pakistan in the blacklist and that is why FATF
did not place it there. So it may be said that the
organization functions on the basis of consensus between
the countries.

15. (a) The word deflect has been used in the sense that
Pakistan has tried to divert the attention from the fact that
it has done anything regarding the measures that should
be implemented by it as per the FATF directions. So, the
opposite would be to attract the attention and we have it
in Option (a) whereas ratify implies to confirm something
and twist and sidetrack both are the synonyms of the
given word. So all these words can be eliminated.

16. (a) Prevent: keep (something) from happening.
Avert: turn away (one's eyes or thoughts).

17. (d) Evade: escape or avoid (someone or something),
especially by guile or trickery.
Confront: come face to face with (someone) with hostile
or argumentative intent.

18. (d) Contention: heated disagreement.
Allegation: a claim or assertion that someone has done
something illegal or wrong, typically one made without proof.

19. (b) Either of the two dresses shall look good.
20. (a) Each and every member has to vote.
21. (d) The thief and the eye-witness have escaped.
22. (a) Back in my native place, I did not have a Smartphone.
23. (d) The correct indirect speech of the given sentence is,

"He said that she had finished her work." Hence, option
(d) is the right answer choice.

24. (b) The correct indirect speech of the given sentence is,
"The He said that he would come the following day."
Hence, option (b) is the right answer choice.

25. (c) Format of the analytical paragraph includes
Introduction, body and conclusion. Hence, option (c) is
the right answer choice.

26. (c) An analytical paragraph is a form of descriptive
writing. Hence, option (c) is the right answer choice.

27. (c) We write an analytical paragraph in 100-120 words.
Hence, option (c) is the right answer choice.

28. (b) The essential features of an analytical paragraph are
that it is necessary to use simple and accurate language
and it should be brief and comprehensive. Hence, option
(b) "Both 1 & 2" is the right answer choice.

29. (a) The women spend about four hours doing household
tasks whereas the men spend less than two and half hours.
Hence, option (a) is the right answer choice.

30. (d) The time spent by men in washing, ironing and sewing
clothes is as low as 2 minutes per day as opposed to 35
minutes spent by women. Hence, option (d) is the right
answer choice.

31. (d) 'He is Lencho' in the passage. Hence, option (d) is
the right answer choice.

32. (a) Lencho wrote a letter to God to ask for help.  Hence,
option (a) is the right answer choice.

33. (b) Postmaster received the letter. Hence, option (b) is
the right answer choice.

34. (a) The postmaster became serious after realising deep faith
of writer in god. Hence, option (a) is the right answer choice.

35. (b) The postmaster laughed after looking at the content
of the letter.

36. (b) Twenty four years ago, Young seagull was left alone.
Hence, option (b) is the right answer choice.

37. (a) The young seagull watched his brother and sister
flying all day. Hence, option (a) is the right answer choice.

38. (c) His brother caught his first fish. Hence, option (c) is
the right answer choice.

39. (c) His family taunt the young seagull because of his
cowardice. Hence, option (c) is the right answer choice.

40. (a) The meaning of "devour" is "consume". Hence,
option (a) is the right answer choice.
Devour: eat (food or prey) hungrily or quickly: consume,
swallow.

41. (b) 'He' refers to the Tiger. Hence, option (b) is the right
answer choice.

42. (a) The tiger watches the stars at night. Hence, option
(a) is the right answer choice.

43. (a) Cars are patrolling. Hence, option (a) is the right
answer choice.

44. (b) "Brilliant" from the stanza means the same as
'gleaming'.

45. (c) The synonym of 'Patrolling" is "Watch". Hence,
option (c) is the right answer choice.

46. (a) The "O there are other balls" implies that loss of his
ball is irreplaceable. Hence, option (a) is the right answer
choice.

47. (b) The child is upset because he lost his ball. Hence,
option (b) is the right answer choice.

48. (a) He is looking at the place where his ball went. Hence,
option (a) is the right answer choice.

49. (b) The name of the poet is John Berryman. Hence,
option (b) is the right answer choice.

50. (a) The other word for 'shaking' in the extract is
"Trembling. Hence, option (a) is the right answer choice.

51. (d) The robbery, the furniture incident and the unexpected
availability of cash on him caused the villagers to suspect
the scientist. Hence, option (d) is the right answer choice.

52. (b) She thought that the scientist had put spirits in her
furniture. Hence, option (b) is the right answer choice.

53. (a) The strange incident refers to griffin stealing money while
being invisible. Hence, option (a) is the right answer choice.

54. (a) Mrs Hall was prepared and ready to tolerate strange
habits and irritable temper because he had paid in advance.
Hence, option (a) is the right answer choice.

55. (a) The word "eccentric" means uncommon. Eccentric:
(of a person or their behaviour) unconventional and
slightly strange: Uncommon, abnormal

56. (b) The unusual event was a guest at the inn during
summers. Hence, option (b) is the right answer choice.

57. (a) Silence is described as golden. Hence, option (a) is
the right answer choice.

58. (a) The fire put the world to an end. Hence, option (a) is
the right answer choice.

59. (b) Imagery is used in the line "To say that for destruction
ice is also great".
Imagery is visually descriptive or figurative language,
especially in a literary work. Hence, option (b) is the right
answer choice.

60. (b) Griffin escaped by taking off all his clothes. Hence,
option (b) is the right answer choice.


